Physics
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1.

«%f5 faorq® e C, /C, @M 1.4 1 ORRTA C, 70A

(a) 25R  (b) 1.5R (c) 1.4R (d) 3.5R
. a3 TERTEE TefAera 19w wrwRl wesER
CECA SCed SFe!
(@) 0°C  (b) 1°C (c) 3°C (d) 4°C
. &ifel® 2 uF-«a ot «ias Frss Brae i A v
995G T
(a) 3 uF —1
(b) 6 UF
(c) 4/3 uF i
(d) 3/4 uF
. Tgel R (@R @D WITHE WTes WEF T 24|
A g TR
(a) SHF (b) fasjel
(c) TfafEe (d) v
. AeeAl @ (orsa ey AR o 7|
[ A B Y
| 0 0 1
0 1 1
1 0 1
1 1 0
(a) AND (b) OR
(c) NAND (d) NOR

. b ANGAE Sty @ae Tee 2Rig Tuvg | I Tew ©itaR

eratgial faoe +at 27, O win o7 Ty 99 TR
(a) fasj (b) =TE=
(c) S (d) «F vodit

. 9F2 TAWITH ¢ofe 16 witag T 93 e

NS TAFCA1: 2 G942 3: 4 | SITHA (ANHE SPATS g

@3:1 (b)1:3 (c)3:2 (d2:3
Tyet I A TMHABA (@Y FH 2
(a) Fferee (b) o
(c) ==l (d) surerfafaan

. 3B YT TR @9 1.5%108my/s | Y @ G MYy
WY ALED (el
(a) 30°  (b) 45° (c) 60° (d) 90°

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Full Marks-50

wE [RUsatem cwta fagfae witas eieey Seabe
TS 3

(a) A (b) A1 (c) A4 (d) At
poiRe wfefFarR) tefd sare v i Bifereta cam
FALO T O L&

(a) ST (b) FHTA

(c) A== (d) =mifesfa

3Ewifa ARA11010.1-97 WilsF wo 2=

(a) 26.5  (b) 26.1 (c) 28.25  (d) 26.25

GG ATAGH (FATHA (FISA ) 20 Gifsl | 97 ST
afsrares 1.61 Lo aFe! YA A

(a) 20 &ifal (b) 24 i () 30 i (d) 36 %
wiTeFeie fFae o aafd 4iga Fo F=oites 1015H2
h=6.4x10% Js 4T3 ¥rgfoa F1 wrorss T

(@) 2.0 eV (b)3.0eV  (c)40eV (d) 45 eV
3o 4 kg ©3 11 m/s @0 44 e q w4 kg
1 10 m/s (AT 2if5a s oM et o7 o
AT GO () TF S0 @ @ AN o ==
(@) 3 m/s (s =)  (b) 3 m/s (=if¥6w farz)
() 1 m/s (@ fit®)  (d) 21 m/s (=if¥ew furz)
RIS B TofR =

(a) AEfereTs Tawi Remwtag T

(b) wrEfeEes Rem e w0

(c) #ifest e weY [Aeretag we

(d) e faz-« waend Remtag e

m STTA GFh IG GID TOSTAR TR WILT | Twwels
STEER A 60° (I FTA| IF € ST ALY wES
Jette 0.51 IFHA Torw fFaptia ot 771 ==

(@ mg (b)) mg/2 (c)mg/4  (d) 0

‘W TwEE G AT S (AT JHFTSI TF
AT | 2ZTTH o9 @ NT6a GreTa Sgeia o1y 2°C
g = 10 m/s? 47q h-49 W+ 24

(a) 800 m (b) 840 m () 1km  (d) 1.6 km
p TICGA GF TYTH £ FTFa W1 2lI9e] AToabe
AT FATYAS 7 3

(@) f (b) p? (d) fe

(c) f2

:
Qcollegedumag
India’s largest Student Review Platform



20.

21.

22,

qio “ireel (FHR WWet +5 diopter @4t -6 diopter |
SIHA GIT@ GTS A 2| (7% AN *wet 7a
(a) +1 diopter (b) -1 diopter

(c) 0 diopter (d) 11 diopter

@ @n¥R Wy oEE =22 sin1007tA |
A4fBTe Besiw ST 219 400 J/s) wfa Tw

(a) 50 Q (b) 100 Q
(c) 150 Q (d) 200 Q
(FITA TOHES AW

(a) BTE® cowrel u >> 1 @3R (GrEzelfEet y >> 1

(b) 5T comel p >> 1«38 (brasafEel y = 1

(c) BT (Sl p, 1 S A @ a2 reifzet y > 1

(d) TF® (TSt p, 1 SC2rH AW @ @R Greeenfze!
x<1

23.

24,

25,

Wit SATEA TS YANTEFT AT 1 : 2| AN TATH
a6 (RTB! IER s @Y 0.1 cm/s| "o www
=7 eifss o

(@) 0.05 cm/s (b) 0.1 cm/s

() 0.2 cm/s (d) 0.3 cm/s

a&fb orae Wy o 30 ff S wtm 2 A fee 2aifze
7o | SITEd W fWew eaifEe wiwe wifase

(a) 600 C (b) 60 C

(c) 1800 C (d) 3600 C

HINSTH GFT WHSA T AR A N
SRSt efferares
(a) N qrets qte

(c) 1 STt caf

(b) N Argre &0y
(d) N-93 @7 T3 34 =

gcollegedunias




